Handout 9b

How many units?

	1. 23 year old Bob drinks 2 pints of ordinary strength lager at home before going out to meet friend at the local pub. At the pub he drinks four pints of strong lager, two shots and three pub measure of whisky (25ml). 

	Total number of units 

	2. 18 year old Pat has three alcopops at a club.


	

	3. 16 year old Gary has one pint of lager in the pub with his parents with his meal.

	

	4. 15 year old Jude has two strong cans of lager in the Park with his mates after school.

	

	5. 52 year old Annie has a bottle of red wine at home after finishing work.

	

	6. 14 year old Sidney had a 25ml shot of vodka and two 50ml shots of whiskey at a house party on Saturday night.

	



Which of these people had drunk more than the recommended daily amount (RDA) of alcohol?

	
	Total number of units 
	Over RDA
	Under RDA

	Bob

	
	
	

	Pat

	
	
	

	Gary

	
	
	

	Jude

	
	
	

	Annie

	
	
	

	Sidney

	
	
	



